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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 33 questions. All questions are compulsory.

(it)  Question paper is divided into five sections — Sections A, B, C, D and E.

(iti) Section A - questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

(iv) Section B — questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

(v)  Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

(vi) Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks. Each question has subparts with internal choice in
one of the subparts.

(vii) Section E — questions number 31 to 33 are long answer type questions. Each
question carries 5§ marks.

(viii) There is no overall choice. However, an internal choice has been provided in
Sections B, C and D of the question paper. A candidate has to write answer for
only one of the alternatives in such questions.

(ix) Kindly note that there is a separate question paper for Visually Impaired
candidates.

(x) Wherever necessary, neat and properly labelled diagrams should be drawn.

SECTION A
Questions no. 1 to 16 are Multiple Choice Type Questions, carrying 1 mark
each. 16x1=16
1. Refer to the Venn diagram given below. Select the option with correct

examples P, Q, and R :

Endospermic

Dicotyledonous
seed

@ Monocotyledonous

P Q R
(A) Castor Onion Wheat
(B) Bean Castor Maize
(C) Pea Gram Barley
(D) Coconut Rubber Groundnut
57/1/3-11 3 VNN NN P.T.O.
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2. TH ASHIHS TAYEFAALEe e H ————— ’ TS T TR 99 I
frsor gt B
§=mnnn B
p
Y p— B
p
i — B
p
R Se— B
P<
(A)  ETEGNH 99 (B) UwrEE 9y
(C) N-TAEHIYeH 94 (D) HITHISEUEX §Y

3.  3Y I 3@ H Thicd U AT AF/G/HTd i WA 30 91 H W@ 2
(A)  FEAEEIRE (B) 3Tehi (3TTI) SR
(C) TEEF-Evdt St (D) Torywdret St

4. TafaRea areie Sigett (gesifte Thmed) d & fopm difcrt @ do (i)
1 e wieqor &g 39T foham e B 2
(A) ¥ (B) W&
(C) 9N (D) =&

5. ‘U7 dAfgd gt HIwh! Jg3Ti b YU § R & e B et Tawel i
T fohfEd gt 8, g I8 had ASfadl (Acd) g fhamfia o1 g 8

g T gt HIATH TgeTt T I BHS g AfaETiud B A § 17 HAT hI

JEATiId i dTcd AT+ <hT 919 @

(A)  Eifad (B) @MTh
(C) 3TE Tl (D) Hed
6. Tm=faRga @ @ #l9-a1 gWA TMa UT (vider) g ifad grar & S Eedn
(TTHTEEAT) ! AT W& B TR B ?
(A) TifeE (B) WME S MHEIgUH
(C) ARSI (D) HHE T A
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The type of bond represented by the dotted line ~———— > in a schematic
polynucleotide chain is :

(A)  Hydrogen bond (B)  Peptide bond
(C)  N-glycosidic linkage (D)  Phosphodiester bond

Lactobacillus that sets milk into curd is categorised as :
(A)  Cyanobacteria (B)  Archaebacteria
(C) Chemosynthetic bacteria (D)  Heterotrophic bacteria

Which one of the following transgenic animals is being used to test the
safety of the polio vaccine ?

(A)  Sheep (B) Goat
(C) Pig (D) Mice

The scientist who proposed that “embryos of all vertebrates including
humans develop a row of vestigial gill slits behind the head but it is a
functional organ only in fish and replaced by lungs in all other

vertebrates” 1s :
(A) Darwin (B) Lamarck
(C) Ernst Haeckel (D) Mendel

Which one of the following hormones is secreted by the human placenta
that helps in the maintenance of pregnancy ?

(A) Relaxin (B) Human Chorionic Gonadotropin
(C)  Oxytocin (D) Human Placental Lactogen
57/1/3-11 5 VAWV P.T.O.
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(A)  TTHA (B) feeer
() faafa (D) UHCAUHA
8. Tmfafaa @ 7w e &1 =3 HINT :
HHT SRIITST TETT
(A) 45 +XX _ <l gl | stfyenafres um shie
(B) 44 + XXY _  gHY &Y 9 HIeT A i e
(C) 44 +XO . Icqardd TSI % SR ARl §1E Bidl 8
(D) 44 +XY — g T (9E)
9. Yfqaed ST — fgg 11 Siuau o1v] & fafime ogshm &1 qgaH o+ faom
forg W 1ed &, 39 fAf¥E 31gsha § &Res gl hl 96T @
(A) Og &Mh H (B) =X & JH
(C) 9 &eh W (D) oF &R W
10. 9iER FaeE 7q fopet grafa g sToHTg ST aTell strafees a9 safy gl amfee
(A) HEa = & 5d 4 104 fag & =9
(B) HIEIRI =sh & 139 ¥ 159 fed & o9
(C) HIEIH =sh & 109 ¥ 174 fed & o=
(D) HEaH T & 1649 ¥ 209 e & o=
11. A higd 9 g 9K 4 J9A r-ivqu o fafor & fau f=fafeaas 5 9 forg
Sraro] (SrerdifiaT) st Iwm feham 2
(A)  mEFIRTT SEIbE
(B)  #rg@HlsaIRTT et
) & @i
(D)  @reHHAT ZEEGRTT
12. T dIE o YN H Ueh ¥ 31feeh N9 TR 1 foeme e g
(A)  HH (WD) (B) Uesh
(C) HIfvrceTash (D) UIGU=Adh

Vet TR & GH, Sfds & IgE gferfart d sem @ = fdw 8 ol
29
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7. During an allergic reaction, the binding of antigen to IgE antibodies
initiates release of :
(A) Interferon (B) Histamine
(C) Heparin (D)  Acetylamine
8. Select the incorrect match from the following :
Human Karyotype Characters
(A) 45+XX —  Broad palm with characteristic palm crease
(B) 44 + XXY —  Overall feminine development
(C) 44 +XO —  Sterile females as ovaries are rudimentary
(D) 44 +XY —  Normal male
9. Restriction Endonuclease — Hind II always cuts DNA molecules at a
particular point by recognising a specific sequence of :
(A)  Six base pairs (B)  Four base pairs
(C)  Seven base pairs (D)  Three base pairs
10. The periodic abstinence by a couple for family planning should be from :
(A) Day 5 to 10 of menstrual cycle
(B) Day 13 to 15 of menstrual cycle
(C) Day 10 to 17 of menstrual cycle
(D) Day 16 to 20 of menstrual cycle
11. Which one of the following bacteria were used by Stanley Cohen and
Herbert Boyer to accomplish the construction of the first rDNA ?
(A)  Agrobacterium tumefaciens
(B)  Mycobacterium sp.
(C) E.coli
(D)  Salmonella typhimurium
12. The organism that occupies more than one trophic level in a pond
ecosystem is :
(A) Fish (B) Frog
(C)  Zooplankton (D)  Phytoplankton
57/1/3-11 7 VAWV P.T.O.
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Yo7 G 13 @ 16 % 1678, 31 97 15T 7TQ § — (74 T %1 37159 (A) a97 gt &1
FRUT (R) ZRT 37 a1 77 & | 37 3941 & @&l 3% 17 fow 71w #isi (A), (B), (C)
3% (D) 7 & gaa< Ao |

(A)  AMHAT (A) 3T HROT (R) ST T&l & W SR (R), AR (A) I
&l ST Ll B |

(B) AR (A) 3R HRU (R) GHI Hal 8, Tg HRU (R), ATHAA (A)
el ST g7 T 2 |

(C) AR (A) F&l 7, Tq RN (R) T4 & |

(D) 3fYHeH (A) TeId 8, T RO (R) Tl 7 |

13. 37997 (A) : YWRA TR 4 G TG Faeit HEl hl d9Tfeha1 Haor 7q
ST (GEAC) ATHeh T34 1 TATYAT hl 2 |
FRU(R): 9 ATANIha: TUAHNG Sial ol ITiad H Jfase haam I &
dql 39 W IS I9TE T& g |
14.  39%T (A) : ST Y18 | Agarmeh faf=ar § gig st 2 |
HRU(R):  Tordll UTcaehdl @wfse H AU Uelial hi ATgloseh J(AMS qT 3R
AT AT | §EM1 UeiTal <hl AN ohl THTIIT hidl & |
15. 397 (A) : AR 2N 1 i R3] 1 HFEA e @ shi garsrd a1 g 3
I AN ot FaHfaEH eufd & T SHerar Wiy <1 Haaw U™
g |
FRU(R): WA H Y 3R AR &= &l HMEA €9 & Mg o H
TeTcHh, GTHeh qT HTHISh ©dsh STeeh T8l & |
16. STYBIT (A) : THIFFINTH ZTHBEET 3Tk Thaladsl el 1 AThI
2 |
FRU(R): WY H JHMRT DRI I I T UG i g I8 ST
% Teh 3 “T-SITAT I &I i § T9Y B |
Qs @
17. = feu o Sewmn & frfig w1 stemem Hife | v 3 o = (TSt wea)
& AW fifgu S T ‘A’ 9AT TR B H 9IS ST Hehdl & | 39 YR o fUNIfiS o
Y forgert 38 ITias &1 9W failRae fSem o8 9= Sman 8 | 2
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For Questions number 13 to 16, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct answer to these

questions from the codes (A), (B), (C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

13. Assertion (A) :

Reason (R) :

14. Assertion (A) :
Reason (R) :

15. Assertion (A) :

Reason (R) :

16. Assertion (A) :

Reason (R) :

Indian Government has set up an organisation known as
GEAC to decide the validity of GM research.

Genetic modification of organisms has no effect when such
organisms are introduced in the ecosystem.

Gene flow increases genetic variations.

The random introduction of new alleles into a recipient
population and their removal from donor population
affects allele frequency.

The laws of our country permit legal adoption and it is as
yet, one of the best methods for childless couples looking
for parenthood.

Emotional, religious and social factors are no deterrents to
the legal adoption of orphaned and destitute children in
India.

Agrobacterium tumefaciens is a pathogen of several
monocot plants.

It is able to deliver a piece of DNA known as ‘T-DNA’ to
transform normal plant cells into a tumor.

SECTION B

17. Study the diagram of a pyramid of biomass given below. Name the two
standing crops that could be occupying level ‘A’ and level ‘B’ in it. Name
this type of pyramid and the ecosystem in which it is found.

(A?

57/1/3-11
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18. dgd UIver g fohu U s ki i QU U om@ g guiin T g | 39 WA

I TS shifoTu qoT 3Gkt ey faRgu | 2

19. = & T @i § A, B, C 9o D’ ) TR ; 4%:2
TIRYTI JIeg 7l #7 YT 578 TF [HElia #ar &
BT A
B =T A o SIS I S
HUT A& ‘C
D e § SSTSHhE H1 AT

20. (%) “Ff= yoR & TR (FN) 3o AMUT&fes Ted FC=, gag qe

e | 9g9H 94 &, I8 fafmear 3w fhu U gensiat @ ot 7 17

Tl T 3gTE Shl HETIdT ¥ S8 HYA hl HAT HIT | 2
srerat
(@) f=fafaa arferst @ A, B, C @1 D &l Yg=THT 2
gId die Ul BIThReh JHTE /IR <
CRIIEENE | gHTfd WA
1. | 997 gieem A JAFETEH /IR o JehTi
! T A B
2. | FFfag Gersar B C
3. | GRYISTTSTH HibhT Ik D

57/1/3-11
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18. Given below is an illustration of the experiment performed by Louis
Pasteur. Explain the experiment and its conclusion. 2

19. Identify A, B, C and D in the table given below : 4x é =2
Terms Part of the plant it represents
Pericarp ‘A’
‘B’ Cotyledon in seed of grass family
Embryonal axis 0
‘D’ Remains of nucellus in a seed
20. (a) “Different varieties of cheese are known by their characteristic
texture, flavour and taste, the specificity coming from the microbes
used.” Support this statement with the help of two suitable
examples. 2
OR
(b)  Identify A, B, C and D in the following table : 2
Scientific name of Drug Harmful effects / Body part
source plant affected
1. | Papaver somniferum A Depressant/slows down body
functions
Cannabis sativa B C
Erythroxylum coca Cocaine D
57/1/3-11 11 VAWV P.T.O
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21.- A Tl & TRIATe Tgeh S TRNfirehl (TIRE) rishd § 319 M
el A TN hT IJoch@ T | 36 WEAel By (S g oeft) Hrisha o
FI HFT AT 8 2 2

Qug 1

22. (%) uwH.ud. faer g feu wu wam i wedear i smen i |3
aseRt o A ferfgw e weamat (ufterewn) 3 fier &t 3| 3= &l

T % foe i@ foma | 2%
(@) Iohiug favetyor 38 giiereudT i qreA fh TR &Lt 8 ? é
23. (%) <= fou v fag =1 yg=nfw qen 39 Iy w1 AW fafay fSees g @
<@ T | 1
L D -
oy ,‘;’é %‘:@a v ;
(@) T # TRl forgedt @A w1 MEbd w=d § ? =re S f6 o
FH AR I T B | 2

24, TH UNER ¥ fUar, G qen g 9y §, e A 9 g arelt @ (g Tl
8) | 39 fo=R # 9 9 3R Gt § 59 foehr <t el 3%k fuar & o1iE 7 2
3T I ! ~AIETaal g i gq Toh hid 415 | 3
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21. Write the basic steps followed in the Assisted Reproductive Technologies
(ART) programme to help childless couples. Why is it also known as test
tube baby programme ? 2
SECTION C
22. (a) Explain the significance of the experiment carried out by
S.L. Miller. Name the scientists whose hypothesis prompted him to
carry out this experiment. 2;
(b) How does meteorite analysis favour this hypothesis ? é
23. (a) Identify the picture given below and name the tool under which it
was viewed. 1
;12 b
Ay .y
:E‘Lti-’r
FPL
AT A
:"{‘.3;@*
3‘»: f‘"ﬁ;;:a ; e
2y ﬁg“w s R W 3%' g
SRRy
(b) What do the dark spots represent in the picture ? Explain how and
why are they formed. 2
24, In a family, the father, the daughter and the son are colour blind,
whereas the mother has normal vision. Do you think the son and the
daughter have inherited the disease from their father ? Work out a cross
to justify your answer. 3
57/1/3-11 13 VAWV P.T.O.
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95. fuwufE A qeU B I TEEIR |
IR o TfcReT T § 3eh! Yfept shi ST i | 3

26. (%) g *d gHfeaa grar g o Affehe 37pig o1 T wh fafsme sfa st
HitqeRT T & 81 ? ST HINT | 2
(@) 39 3R 6 Gerdt 8 Te-fasmm 1 quib Hifs |

27. Afgenet grr off I areft mifmet mfa (frem) & franfafa & e
S AT HINT | $oh TR TRUTH ITH i 7g AERT IH aneft =

TUI-GHON T Ieaid HIT | 3
28. (%) () NS 9g (e tved) #0182 1

(i) woyem fffa Uil T o1 am ffgw qun o HEw
Seo@ I | 2

reran

(@) () ¥l W I (EcoRI) % THR &G TS T3 WU i ST
hifoTe | 2

(i)  hadl G ! HEEAT & ol IR I i ST FiefigfFearaierss T
foram =1 wefdfa Hifsre | 1

57/1/3-11 14
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Identify A and B in the diagram below.
Explain their role in the immune system of the body. 3
26. (a) Explain how it is ensured that the orchid Ophrys is pollinated by a
specific species of bee. 2
(b)  Describe co-evolution with the help of this example. 1
27. Explain the mode of action of contraceptive pills taken by human
females. Mention the schedule to be followed for effective outcome. 3
28. (a) () What are transgenic animals ? 1
(ii))  Name the first transgenic cow and state its importance. 2
OR
(b) @) Explain the convention for naming EcoRI. 2
(ii))  With the help of an illustration only, show the action of
EcoRI on a DNA Polynucleotide. 1
57/1/3-11 15 VAWMV P.T.O.
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J97 G&IT 29 TIT 30 FH-THRT J97 & | Ic3% J97 & 8 39-Y97 & 5@ v 39-J97
q 371aRe 1acy 1297 a7 8 )

29. fafafigd ufi=ae it gt f= feu T yot & 3or dfe | 4

w1 I8 Afevaeia (sTveRisHs) T8 8 fF yra &1 yfhes fava % o yfbes

T hdd 2:4% & Sdieh 3Hh! Afedeh AT TIfaeadr IHE=T ®9 & 8-1% 3 !
g TS (STfcRli) o 39 3Tehed H WIh(Aed <hl HEAT Wl Ieai@ whal ot

T 2 |

Stia-foat goem @ & fova & = &= 61 S fafagar @ gefaq stiesi

T HUE B H G/ @ & | g1 o flH STerT-oTeam &l H EauTia o
fafir=r ot <1 Shifeat <R & fafawar & fow we stfeel & = few €2 (aw)

% g ST T 8

;
:

5 K .
(%) R H & 11 ° Sdie fafagar (dgfg) saiiees =i 7 ? 1
areran
(%) SR ° & 1 H A fafawar (wmfy) ~mae w=i 2 2 1

(@) digl qur Sqelt i fafagar fova o whemm TE 7 91 tEmE o
IYfdd BT B | Seoi@ e foh 50 yepr it fafawar =1 & wved

g 1
(W)  vEr w7 fh Wikiem W dl st wifvEl ot aXg el TSIt i
fafaear & sgmfTa Ten 78 gt 8 2 T Hif | 2
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SECTION D

Questions No. 29 and 30 are case-based questions. Each question has
3 sub-questions with internal choice in one sub-question.

29. Read the following passage and answer the questions that follow. 4

Isn’t it incredible that India’s land area is only 2-4 per cent of the world’s
total land area whereas its share of the global species diversity is an
impressive 8:1 per cent | However, in these estimates of species,
prokaryotes do not figure anywhere.

Biologists are always keen on collecting data with respect to species
diversity observed in different regions of the world. The data collected
based on the survey conducted for species richness of groups of
mammals in three different regions of the world is shown in the bar

graph given below :
N

Taxonomic Richness

v

Region I
Region I
Region II1

(a) Why is the species richness maximum in Region III in the bar
graph ? 1

OR
(a) Why is the species richness minimum in Region I in the bar graph ? 1

(b) Plants and animals do not have uniform diversity in the world but
show rather uneven distribution. Mention what this kind of diversity
is referred to as. 1

(c) Why is it that prokaryotes do not have an estimated number of their
species diversity as seen in plants and animals ? Explain. 2

57/1/3-11 17 WAV P.T.O.
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30. = feu Tu @ w1 SreEA Hifsre R wumaia Saret & === i SRty
o faf=T =T 1 SRR TR0 B | 38k YR W U MU S|ATH T 6 I
RS

e N

. @ ferepfa wifén ® o

WIR W el SET] & ®
aﬁh@?ﬁﬁaﬁ(ﬁaﬁ) ®

TTETSAA qAT
uffafe % T (iv)

(%) 39 e (FIAHT) I 9GS FIAHT g3 8 | ST ] ATIETAAT

1 1
ARl Pa

(@) wIfSHs | 37 TS ol T Hal 11 2 &l Cufbfer qan dgmmsaet=
gfa gfaareht SfAi o1 Fasm fopam Smar g 2 afseh SSif=ior § 3

YfHehT T Ieci@ HITT | 2
(M) orgafyes SfEier o mewqel gfieer w9 @ demeEl % A
fafaT | 1
ST
(m) fresht ffseaa (saefie suadtoss) # p-ioeerarses 6 fies
fafau | 1
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30. Study the diagram given below that shows the steps involved in the
procedure of selecting transformed bacteria and answer the questions
that follow :

Gene for ampicilin

resistance Gene for tetracyline
resistance
Plasmid )
Plasmid (1)
Recombinant DNA
(i1)
Plate M

Plate N
Replica plating ® @

_% o

®
Agar with tetracycline
and ampicillin (iv)

Colonies derived from
single bacteria growing
on agar

(a) Identify the colony that has got transformed. Justify your answer. é+é

(b) What are the sites in a plasmid called where ampicillin and
tetracycline resistance genes are inserted ? State their role in genetic

engineering. 2

(c) Name two enzymes playing an important role in genetic

engineering. 1

OR
(c) State the role of B-galactosidase in insertional inactivation. 1
57/1/3-11 19 VAWV P.T.O.
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31. (%) () AWa A (Sf) d Yo7 Hi 37 TawAT ST AHIfhd foa SAEY o
ALYV o HACT®d Frefdr gt 8 | 1%

(i)  TALIY o &G YOI H BH A IRGCHT T (1) T o 4 T

qgr (2) 9 I W # fodfea g9 a% i Staxen &1 gud

hITT | 2
(i) Frefafad H yfie o1 Ieorg HIf : 1§
(1) 90

(2) I I &R

HAAAT

(@) ()  FrEIcr A iFsichd KE W IETehdl i ST o SEsg
oft sl <t Scafd gifeaa 8 &id 8 2 Tl & S ol AU W

fafira smmepfar qem omepR & @k Yot uftetferd 21d 8 | 2 1
(i) AgqetEt o fag i s (i) & =9’ @i &1 Seod

2
(iii) T STAsiS o Teh o= YO () w1 foa st fopegi
IR 9T o AW fafaw | 2
32. (&) (1) HIERA & 3@ Afyagu w1 am fage men Hife s
TJEMET SRR § al ANMd g1 § T hal hifSrehrel |
T B ST R | zé
(ii) AFE 1 Bt T SRR § 9 S g g o fafine
gitfefel § hatsl 8 hd & | 3R A fofE qen srarse fh
3 8 39 T U FaER B B | 1
(iii) ShEX o ASH dur M § FefaRad ae-tenl i YRt
SeaiE T
(1) Shgfawdien (smEret) don Sak fasfa (feeeumers) 1
(2) GahIT AT ARG (Wfes Wimg gafem) Jé
HAYAT
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32.
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(a)

(b)

(a)

1)

(i1)

(iii)

1)

(i)

(ii)

(1)

(i1)

(iii)

SECTION E

Draw a labelled diagram of the embryonic stage that gets

implanted in the human female leading to pregnancy. 1 2

Explain the changes that the different parts of the embryo

undergo after implantation up till (1) Placenta formation and

(2) formation of three germ layers. 2

Mention the role of the following : 1=

(1) Placenta

(2)  Three germ layers

OR

Why do plants like Viola and Oxalis give assured seed sets
even in the absence of pollinators ? When an orange seed is
squeezed, many embryos of different shapes and sizes are
observed. Why ? 1
Mention four advantages of seed formation to angiosperms. 2
Draw a diagram of a fertilized embryo sac of an angiosperm
and label any four parts. 2
Name and explain the property present in normal cells but is
lost in cancer cells. 1 é
All normal human cells have genes that may become
cancerous under certain conditions. Name them and explain
how. 1
State the role of the following techniques in detection and
diagnosis of cancer :
(1) Biopsy and Histopathology 1
(2) Magnetic Resonance Imaging 1 é

OR
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TR T el H Yidled aifed 7 Tk §gd 9! 2 H SAd &Il 8 ad
3 % UGN S Y 381 ITER a1ied HA IT=R Gl (STP)
fore SiraT 2 | 1fed 7 U= 99 o fafi= =@ w1 = feu mw e
3G gRT ST TR |

3 Y18 3T 1 EIIT R 4= feu U yoat o 39 & .

Ifieh Sfg:@Td i §¢ Iad dohi § ¥ TENT Sl &

Sfg:HTE Hl aETed H Bq FoAE (defer) doi # Se Jrar 7

@ (1) Wi SieEE o 98 g Sl | = AR ST g 2
2) Tfda ‘sragre’ 1 &1 FEd 8 ? Uk HEW Il
ST |

(3) UG Fg:ATE ohl YThideh ST @idi H JaTed i § qd
fr:a1e 3 ® 31fam =wur 1 =mEn Hif |

Gi) fafs= Sta-smat & foeeel @ gt o 9w fafge S 3 at
TN -3kl o &9 ¥ foham Sran 3 | fofae fo6 3@ @ g
g A9-3h o T H HY hE HAT 2§ |

AR o YRR T H ¥ U JEN R gEase @ TR o b
Aafes ugrd w1 TARh BT U s el Sifi@swr | 39
e w1 9m fafge e = g T8 fag 8 gt | T o 9ol
SHITSTT qm I8 sy T JUIF HIfT |

AT

3Meh! ST Rl a1l HeX 1 Ueh @e didn e T feert SiHvEy
(Sfrersy) 3Ta 91 8 | del H hae TaqTeTr o g Ty e Tl shiEl
1 TEEaT ¥ NG w1 SR (SH1eET) Fd HIT | 319 gy s T
I Shid 1 SHITE (SHiergd) dun guawEdt (FHIeEY) AU
ferfiag |
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Large quantities of sewage are generated every day in cities as well
as in towns and are treated in Sewage Treatment Plants (STPs) to

make them less polluting. Given below is the flow diagram of stages
of STP.

Study the flow diagram and answer the questions that follow :

Primary effluent passed into large aeration tanks

A 4

Effluent passed into settling tanks to form ‘sediment’

i) (1) Why is primary effluent passed into large aeration
tanks ? 1

(2)  What is the ‘sediment’ formed, referred to as ? Mention

its significance. 1

(3)  Explain the final step in the settling tank before the
treated effluent is released into water bodies. 1

(ii) Name any two organisms commonly used as biofertilisers,
belonging to different kingdoms. Write how each one acts as
a biofertiliser. 2

Stability, as one of the properties of genetic material, was very
evident in one of the very early experiments in genetics. Name the
scientist and describe his experiment. State the conclusion he

arrived at. 5

OR

A tall pea plant bearing violet flowers with unknown genotype is
given. Find the genotype by working out different crosses only by
selfing the plants. Write the genotypic and phenotypic ratios of each

cross shown by you. 5
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